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Section B
Section B

. It has a bulkhead 8 m
Determine EACH of the following-

(a) the pressure on the bulkhead at its lowest point

P TO4AT fa e
(b)  the thrust on the bulkhead. LLSFq6inN
(5)

Note: seawater density is 1025 kg/m?

T

g QSShggn::e e\ir:é\e kefel has a displacement of 35000 tonnes. Before loading a
boardil ‘:h Of equipment it is decided to move a 90 tonne load already on
ard, o e centreline, to incline the ship. The 250 tonne load will act at a

point 2 m off the centre line to starboard when added.

Determine EACH of the following:

(a) the distance the 90 tonne load should be moved away from the centreline
to incline the ship so that, on loading the 250 tonne equipment, the ship
will become level again; (4)

(b) the angle moving the 90 tonne load will create. (4)

Note: Given m x d = AGM tan 6 and that KM = 7m, and KG = 5.5 m.

of 48 volts and an internal resistance of 4 ohms. It feedsa

emf :
9. A battery hasan ors connected in parallel.

circuit consisting of three resist

The resistors have values of 10 ohm, 20 ohm and 30 ohm.

Calculate EACH of the following: . ¢

p—

(4)

minal voltage; ]
E (a) the battery termi . e -
. /

i i1
(b) the current in EACH resistor. R
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